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This assignment has 6 tasks.

Exercise 1. We are looking for a solution of the equation 23 + 2 — 2 = 0.
1.a) Write down one step of Newton’s method.

1.b) Compute the result after two steps, starting from the initial guess xy =
0.

1.c) Write down one step of Newton’s method as an expression computable
in a computer, as was done in the lecture.

Exercise 2. How many steps are necessary for Newton’s method to converge when
computing the root of f(x) = ax 4+ b? Does it depend on the starting point?

Exercise 3. Write down Newton’s method for the function f(z) = % What
happens? Calculate the result after 50 iterations, assuming that the starting
value is 1.

Exercise 4. The sequence u,, is defined implicitly, for a given function f and a
small, positive real number h, as

Unt1 — Un _ Fltng).

h
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4.a) If you also fix u,, find a function of which w,; is the root.

4.b) Write down one step of Newton’s method, that should converge to that
root.

4.c) What initial condition would you choose to start the iteration?

Exercise 5. A continuous functions which changes its sign in an interval
[a,b], i.e. f(a)f(b) < 0, has at least one zero, or root, in this interval.
In other words, there exists at least one point r € [a, b] such that

fr)=o.

Such a root r can be found by the bisection method, which we describe
now.

This method starts from the given interval [a,b]. Then it investigates

the sign changes in the subintervals [a, ‘ITH’] and [aTer,b]. If the sign

changes in the first subinterval b is redefined to be

a+b
2

b:=

otherwise, a is redefined in the same manner to

a+b
2 )

and the process is repeated until the quantity |b— al is less than a given
tolerance.

Show that the bisection method converges, if the assumption are fulfilled.

Exercise 6. Assuming that Newton’s method and bisection method converge, one
can show the following estimates of their respective errors, provided that the
initial error eq is sufficiently small:

leN | < Clel? Newton
leal

el | < Bisection

Which method, in general, will be fastest to converge?



